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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

% Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

4. Writeyour Question Paper Code No. 54 / ASS/4-A on the Answer-Book.

5. (a) TheQuestion Paper isin English/ Hindi medium only. However, if you wish, you can answer in any

one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the responsibility
for any errors/ mistakes in understanding the question will be yours only.
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ACCOUNTANCY
&R
(Principles and Practice of Financial Accounting)
(fafta st & fagr wa =rewr)
(320)

Time : 3 Hours ] [ Maximum Marks : 100
9 : 3 0L ] [ qUifs : 100

Note : (i)  This Question Paper has two Sections - Section ‘A’ and Section ‘B’.

(i)  Attempt all questions of Section “A’. Section ‘B’ has two options. Candidates are
required to attempt questions from one option only.

(iif) Each question from Question Nos. 1 to 9 has four alternatives - (A), (B), (C) and
(D), out of which one is most appropriate. Choose the correct answer among the
four alternatives and write it in your answer-book against the number of the
question. No extra time is allotted for attempting multiple-choice questions.

fiwr: ) mrw-widaet-ar s ware's

(M) @' & vt yE B @ wA Y @ve e § o e £ wenfet @1 Fae TR
fammea % & el % W R #

(iii) S HEA 1 W9 T & ¥&F w F WK - (A), (B), (C) 7 D) % i
T €| W forehedt # R W v g aon ot SR-gftee § ¥ v F 9y I
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SECTION - A

@ s - H
1.  Which of the following reserve is not shown in the balance sheet ? < 1
(A) General Reserve (B) Secret Reserve
(C) Specific Reserve (D) Capital Reserve

o § @S-8 999 = Teafa faamo o =& gwien sman?

(A) TEE EE (B) @ H=d
) fafire d== (D) SiTd H=d
2.  Which of the following is an example of liquid asset ? 1
(A) Building (B) Marketable securities
(C) Patents (D) Goodwill

e & | -1 T FH 1 SR § 2

(A) W (B) =R A wlayfar
(C) W= .. (D) wnfa

3.  Loss of goods, destroyed by fire will be shown in the : 1
(A) debit of Trading Account (B) credit of Trading Account

(C) debit of Profit and Loss Account (D) ‘Liabilities’ of Balance sheet

HTE 1 AR H T B F 7 A FwE S
(A) AR @A & A H (B) SR @I &% FH1 H
(C) wm-=If &1d & W | (D) feaft foemo =t e &
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4.  Which of the following statements is correct ?
(A) A partner in a firm cannot transfer his/her share to any one in any case.
(B) A partner can transfer his/her share to any one freely.
(C) A partner is free to transfer his/her share to his/her family member.

(D) A partner can transfer his/her share only with the consent of all other partners.
7 ol § ¥ FA-W AR ® 2

(A) T FH F1 HEGER fHHt &1 off o7 fmat off feafa § o7 s 6 gEn T8 1 gehdl |
(B) T WRER 3194 9N &I Ta-=dIgaeh fohdl 1 +ff FEawfia L Tl 8 |

(C) U WIEIER 3 I H1 3794 IR & ot gee 1 searafa F & o T €

(D) U TGN 3197 W I 379+ Feft AR F1 TeHfd | S HL qohdl ¢ |

5.  According to which Act there can be maximum 50 members in a firm ?
(A) Indian Partnership Act, 1932 (B) Companies Act, 1956

(C) Companies Act, 2013 (D) Companies Act, 2015
form sfufem % o ER & o | gewi wi sifsan den 50 @ geRd 7 2
(A) YR gERr sfufEd, 1932 (B) ¥yt aafufTm, 1956

(C) ¥t sfufTad, 2013 (D) et sfafTam, 2015
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6. A and B are partners who sharing profits in the ratio of 2 : 1. C is admitted witha 1

1 1
share which he acquired = th from A and IT) th from B. The profit sharing between

A, B and C will be :

©)

ik T
"4 (P) 5 55

= | =

Lo
=

M| =
QI | =
| =

RVEE
By

[OSRIE

2
(a) 3

A 3R B TR § 3l oY F §eaw 2 1% 9K § Hd €1 C o yow fean wn qen sed
39 T A % Aéﬁmaﬂtll—z B A fem@n| A, B 3R C &1 &9 {9 8

7. The minimum number of members in a public limited company is : 1
(A) 2 (B) 7 (C) 10 (D) 20
Tt Hifd ot § Tewl F gAaT TE e §
(A) 2 (B) 7 (© 10 (D) 20

8. That part of the authorised capital which is offered to public for subscription is 1

called :
(A) Subscribed capital (B) Issued capital
(C) Called up capital (D) Paid up capital

sfepa Toft 1 a8 W ol S WIHR 1 SATEE 3 FEAfq R S €, Her € ;
(A) e ISt (B) frwifea it

(C) e st (D) W& gsit
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9.  The maximum rate at which shares can be issued at discount by a company is : 1
(A) 5% (B) 10% () 15% (D) 20%
TF FEA 3 A W aifesman e R W Friftaa #R e €2

(A) 5% (B) 10% (C) 15% (D) 20%

10. Explain the following objectives of preparing Financial Statements : 3
(a) Ascertaining the results of business operations

(b) Sources of information
foreita faoll % =M & e SR9al =t ey
(a) o™ wfeTer % o e

(b) I H E@

11. What is meant by forfeiture of shares ? What is the result of forfeiture of shares ? 3

379l Y STt o v &2 3l w1 Stet o 7 oo g R 2

12. Differentiate between Public Company and Private Company on the basis of : 3
(@) Minimum number of members
(b) Minimum paid-up capital
foret % STuR W ‘TS e R frst dheet’ H SRR SR
(a) W= @ FAaH qE&A

(b) = wew it
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13. Define ‘Depreciation’. State the objectives of charging depreciation on assets. 5

sgerr’ B wfefie ST TR W STEEE T & SEvdl i Seerd it |

14. What is meant by ‘Goodwill’ ? Explain the following factors affecting goodwill : 5

(a) Location (b) Market situation
‘e’ = e €2 @ i wIfEa weaTe R aw o SR

(a) frafa (b) =R = fefd

15. Annu and Mannu are partners in a firm sharing profits in the ratio of 4 : 3. Chunnu 5
2 1
was admitted as a new partner for -7~th share in profit, which he acquired 7th from

X
7
share of goodwill in cash. The goodwill of the firm was calculated at 2 years purchase
of average profits of last four years which were as follows :

Annu and = th from Mannu. Chunnu brought ¥ 60,000 as his share of capital and his

T
1%t year 30,000
ond year 40,000
3rd year 8,000 (Loss)
4th year 50,000

Pass necessary journal entries for the above transactions.
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377] TR 7e] U WH H WIEER ¥ S 1Y 6 seani4 ;3 % FuE d w4 ¥ ggﬁamﬁ'%

W%mwmm,m;a%aaﬁk ; T | a1 €1 97 T 60,000 37T 9FT FH

TSft Qe ST ST T A Aok A | B i @ TR 36 91 % oy @ i
% 1 T91 & T & MUR W H TE, 5 39 YFR 9 :

4

voq 7Y 30,000

IFCIRECE] 40,000

T 8,000 ()
=qd 9 50,000
IR el it ST gfafteal Hifey |

16. X, Y and Z are partners in a firm. X died on 1%t October 2016. Accounts are closed on 5
315t March every year. X's legal representatives are not satisfied with the amount
payable to them. Explain them the amounts they are entitled to.

X, Y 3R Z U wH § TEER €11 STaReR 2016 F X F GG B T | W U 79 31 7 i 92
fpg o 81 X & Fr ST 39 <3 T 9 e 76 €)1 3% At f 9 fee-fea
afsr & siferr ¥

17. What is meant by Private Placement of shares ? What legal formalities are required to 5
be fulfilled by Private Placement ? Also explain its features.

79l o1 it ey o Foefee ot o a1l € 2 Forsft amem w fpfem @ -t st sioenfisansit
I QU FHT B €7 ST TavrTanadi w1 off aoie Hifs |
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18. XYZ Ltd. issued 1,000 10% Debentures of 1,000 each at a discount of 9% on 1%t April, 5
2012 redeemable in five equal annual instalments. Calculate the amount of discount
written off each year and prepare Discount on issue of Debenture Account for first

two years ie. for 2012-13 and 2013-14.

XYZ . 3 1,000 9fa % 1,000 10% OTT 1, 1 3T 2012 i 9% & g W Frfea foam
frapT S O G S fervdt § foan st e | i o eTufefed i S arel sgn A wt
O FATAT , q9n qUq < uf s1gid 2012-13 TH 2013-14 % fow RO g1’ @i SRy |

19. From the following information calculate total sales during the year : 6

<
Debtors as on 01.01.2016 42,000
Bills Receivable as on 01.01.2016 35,000
Bad debts 2,000
Provision Bad Debts 2,500
Discount Allowed 1,600
Cash Received from Debtors 84,000
Cash Received from Bills Receivables 40,000
Debtors as on 31.12.2016 34,000
Bills Receivable as on 31.12.2016 30,000
Cash sales 1,40,000
71 ge | a4 F Fa fasmt F 10 I

z
01.01.2016 %1 <8R 42,000
01.01.2016 =1 9= o=t 35,000
AT HI 2,000
YT U1 % T JraEe 2,500
2 TeH 1,600
ARl | UFE I 84,000
g fawsi @ ks W 40,000
31.12.2016 H! STER 34,000
31.12.2016 1 9= fau= 30,000
g ferht 1,40,000
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20. Aggarwal Agro Tools and Equipments Ltd. invited applications for issuing 5,000 shares 6
of ¥ 100 each at a premium of T 20 per share. The amount was payable as follows :

On Application : T 30 per share
On Allotment : T 60 per share (including premium)

On 1% and Final call : T 30 per share

Applications were received for 7,500 shares. Allotment was made on prorata
basis. Excess application money was adjusted towards sum due on allotment. Call
was made. All money was duly received except on 300 shares held by Neetu who did
not pay the money due on allotment and call. Her shares were forfeited. Pass journal
entries in the books of the company.

JEe @ oW e i fE 3 2100 wfe % 5,000 i & frimw ¥ fag smEeA
st few | e frtm € 20 wfa sfw siftge w e s a1 ofe &1 e e w9 A
fFm oo :

AT W T 30 wfg W
A W : T 60 Wi a9 (Sifaaw wfwfem)
woH U§ ifew arer ;. T30 wfe W

7,500 3igi & g Smaes wTe gWI oA Ao YR W R man enfye smaea
i Y e W 37 Tt F wwwifeE W femn wan | e oft wim w3 300 S
Brea, T U gurEd wra @ 7w, e atmeien iR aree w33 it & spam € R swE
i = wea T forg A1 SO i orE YRkl § Asrn wiafea S |
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21. From the following Trial Balance of Amogh Traders as at 315t March, 2017 prepare 10
Trading Account and Profit and Loss Account for the year ended 315 March, 2017
and a Balance Sheet as on that date :

Trial Balance as at 31% March, 2017

S o it Dr. Balances | Cr. Balances
4 4
Capital 80,000
Debtors 20,000
Creditors 36,000
Stock (01.04.2016) 24,000
Purchases 60,000
Sales 1,24,000
Freight Inward 2,400
Salesmen's Commission 8,000
Deliverymen's Salary 12,000
Sales Promotion Expenses 6,000
Conveyance 6,000
Stationery 1,500
Office Rent 4,500
Motor Van 40,000
CNG Expenses 5,000
Repair of Van 1,600
Office Computer 40,000
Cash at Bank 9,000
2,40,000 2,40,000
Adjustments :

(i) Stock on 31% March, 2017 was valued at ¥ 32,000.
(i) Provision for bad and doubtful debts was to be created @ 5% on debtors.

(iii) Commission due but not paid was ¥ 1,500 and Rent outstanding was ¥ 1500.
(iv) Provide depreciation on computers at 10% and on Motor van at 15%.
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Following is the Receipt and Payment Account of Swachhta Abhiyan Society (Regtd.)
for the year ending 315 December, 2016. Prepare Income and Expenditure Account of
the society for the year ending 315 December, 2016 and the Balance Sheet as on that

date :
Receipt and Payment A/C
Dr. for the year ending 31% December, 2016 Cr.
Receipts St Payments s
3 T
i i f
Balance b/d 4,500 o R 10,000
volunteers
Subscription : Publicity material 6,000
2015 2,000 Expenses on visits 8,000
2016 16,000 Jackets and Trousers 6,000
2017 1,500 Conveyance charges 2,000
Sale of old furniture Electricity charges 1,500
costing ¥ 1,500 500
Profit Bidin Office Rent 4,500
Entertainment 5’500
Donations 12,000 Telephone Bill 2,000
Government Grant 30,000 Furniture 6,000
E.D. (on 01.07.2016 @
20,000
10% p.a.)
Balance c/d 6,000
72,000 72,000

Additional Information :

(i)  Subscription outstanding as on 31.12.2015 was ¥ 2,500 and on 31.12.2016 ¥ 2,000.
(i) Office rent outstanding was ¥ 1,500.

(iii) On 15 January 2016 the society owned Furniture valued at ¥ 10,000 and Motor
Van ¥ 25,000.

(iv) Provide depreciation on Furniture @ 10% and on Motor Van @ 15%.
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masﬁ%slmé,zow%wﬁ31@,2017%%3&%@@%@%%
@ ST a3 fafy i feafy faaror Tar s

31 9=, 2017 i a¢US

@1 T A kL Rkl
4 z

Ll 80,000
TTER 20,000

SRR 36,000
wiF (01.04.2016) 24,000
E 60,000

CED] 1,24,000
gl AT 2,400
forsrashal o1 FHHITH 8,000
feraoreRat =1 S 12,000
forera warda =3 6,000
RlE i 6,000
LSRG 1,500
EaRIGRECARE R 4,500
e 39 : 40,000
St = 5,000
1 1 HOHT A 1,600
RIRISER L C 40,000
5% ° IS 9,000

2,40,000 2,40,000

HHTAS :
(@) 31, 2017 F =F F Fediw T 32,000 & =
(i) ITERI W 5% 1 Y A TS WiEwy H & foe EeH HE
(iii) SHEHITE T 3T TG TAE TE H E TR T 1,500 T S7Ew fHEn T 1500 A1
(iv) HEE T10% T91 HeX A T 15% STEERT0r e € |
areran
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Tl g drEe (Y 1 31 e, 2016 F wATE @ 5 Wit w e @’
1 %1 31 feamar, 2016 1 THE a6 F fou GRS #1 @ UF =@ @1 AR FiST a9
3t fafa = feafa faemor =)

I T& FTar @rar
Dr. T8 THE 31 fegaw 2016 Cr.
eyt ki) s
z : z
Y19 371, @ 4,500 EEgaes] %1 91 <4 10,000
I YER 9t 6,000
2015 2,000 TER W =T 8,000
2016 16,000 Sihe T ZIee 6,000
2017 1,500 et =4 2,000
A FH=R & fawa
fasret =3 1,500
(ST qe= ¥ 1,500) 500
_ Frter &1 feran 4,500
TS | &9 5,500
TH qfer 12,000 sferem faer 2,000
TEHR IEH 30,000 AT 6,000
471 (01.07.2016
- 20,000
10% =ifis =t <X)
9 31 9. 6,000
72,000 72,000
sfaftea g -

(i) 31.12.2015 I 3eT Fa1 T 2,500 TAT 31.12.2016 1 T 2,000 411

(i) 31E FHEed fHTE T 1,500 91

(iii) 1 SHaE 2016 H WiEfd F T T 10,000 T FATER 3R T 25,000 T AT 7 ot |
(iv) TATERE T 10% q1 T 39 W 15% i X § S0 o 2 |
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22. Following is the Balance Sheet of Veena and Pranaya as on 315t March, 2017. They

share profits in the ratio of 3 : 2.

Balance Sheet of Veena and Pranaya

as on 31% March, 2017

Amount Amount
Liabilities z Assets z

Creditors 30,000 Cash at Bank 35,000
Amogh's Loan 60,000 Debtors 52,000

General Reserve 20,000 Less : Provision 2,000 | 50,000

Capital Accounts : Stock 45,000

Veena 1,20,000 Furniture 30,000

Pranmaya 80,000 Machinery 80,000

Building 70,000

3,10,000 3,10,000

1
On 15 April 2017 they admitted Amogh as partner for Zth share in profits. Other

adjustments are as under :

(i) Amogh’s Loan will be treated as his capital.

(i) Amogh brought his share of goodwill premium in cash. The Goodwill of the firm

amounted to ¥ 60,000.

(iiiy Depreciate machinery by ¥ 5,000 and Furniture by ¥ 5,000.

(iv) Stock was valued at ¥ 52,000 and Building at T 80,000.

(v) Increase provision for bad debts to ¥ 3,000.

Prepare Revaluation A/c, Partner’s Capital A/cs and Balance Sheet of the new firm.
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Teena and Meena are partners in a firm sharing profits in the ratio of 3 : 2. They
dissolved the firm on 315 March, 2017. On this date their Balance Sheet was as

under :
Liabilities A Assets Aimeeor
4 L9

Creditors 30,000 Bank 35,000
Bills Payable 25,000 Sundry Debtors 40,000
General Reserve 15,000 Stock 35,000
Meena's loan 40,000 Investment 40,000
Capitals : Machinery 50,000
Teena 80,000 Free hold property 60,000

Meena 70,000
2,60,000 2,60,000

Assets were realised as under :

Debtors T 34,500 Stock T 40,000

Machinery ¥ 45,000 Free hold property ¥ 70,000

Creditors were settled at 5% less and B/P at ¥ 1,000 less
Investments were taken over by Teena at T 45,000

Realisation expenses amounted to ¥ 3,000

Prepare Revaluation A/c, Partners Capital A/cs and Bank A/c

= & 3R yurn &1 31 1S, 2017 1 Refq o e e ®1 a e F S 3:2 %
S § el € |

=T 31 oA it feafe faeror
314, 2017 &1 |

T 30,000 ¥ 8 T@s - 35,000

STHTE TSR0 60,000 TTER 52,000
= T 20,000 2 YEYH 2,000 50,000
Toft @ =t 45,000
e 1,20,000 et 30,000
s 80,000 o 80,000
| 70,000
3,10,000 3,10,000

(=)}

RN ORRIDTE M EX AR ¢ comtar..
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mﬂmowﬁmﬁm@mﬁ;} T 3 Foru WERER S 3T HERESE 38 TR

(i)  3THM 3 O P IR Yol HA ST

(i) STHM ST W FH T NiHFH F A TH @A BH 1 EA T 60,000 A |

(iii) HYRT T E 5,000 T FAr=R T X 5,000 T SSLHT TET |

(iv) % &1 A T 52,000 X e T T 80,000 feran |

(v) S&d Hoil & foIT Wae™ 9@ T 3,000 FEAT |

TS W], |EeR & Ysit @rd ae 7% wH w1 fefa faeron sEw )

Agar

1 i H T wd H gEER € SR oY @ Sean 3 : 2 % U § it €1 S 31 94,
2017 %1 H o1 FET9H 2 fear| 38 fafy = s feafa faao f= o .

s - et i
. 4

[SREL 30,000 | =% 35,000
o7 faua 25,000 | fafim gaer 40,000
W 9 15,000 | wi® 35,000
1 %1 R0 40,000 | fraw 40,000
st LHIER 50,000
Eigl 80,000 | wug HE HEIfA 60,000

H= 70,000
2,60,000 2,60,000
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Tt ¥ age 7 of -

SRR T 34,500 T T 40,000

HEiRT ¥ 45,000 9gT Had 9419 70,000

AR 1 5% FH T FTaE o qun <7 fausit =1 faem 2 1,000 9 R =
e =t 21 3 T 45,000 F ferm

T =T H1 TR T 3,000 |

YT @I, TEER! & Yot @I T4 S @1 s9ST |

SECTION - B
gueg -9
OPTION - 1
fammea - 1
(Analysis of Financial Statements)

( faira faamoTt = faversoT)

23. Give the formula of calculating Liquid Ratio. 1
TS ST i TUAT T YA IS |

24, What is meant by a Cash Flow statement ? Name the categories of Cash Inflows and 3
cash outflows as per AS - 3.

T&g yare faew &1 71 319 7 TUH.-3 & IER UFS & A<RE JaE @ IHs F I
YaTE % H&A a1l o A S|

25. State the aspects an interpreter is expected to study while interpreting comparative 5
Balance Sheet. Also explain how can he study these aspects.

e feafa foramon %1 =aremn w1 wag = 4 51 veqsl &1 e erifed & s
Ieorg Hifee | T8 ot FHEET fF 9% 37 weqel w1 oeaa e YR ¥ R wEaT

26. From the following information calculate : 5
(@) Debt. Equity Ratio |
(b) Working Capital Turnover Ratio

3
Equity share capital 2,00,000
Preference share capital 1,50,000
Accumulated Profits 60,000
General Reserve 80,000
10% Debentures 1,50,000
Sundry trade creditors 75,000
Outstanding Expenses 20,000
Current Assets 1,65,000

Cost of Revenue from operations 3,50,000
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A= E
(a) O-HEA ST T
(b) v YSft e ST T U Wi |

z
A S gt 2,00,000
aifRR 39 it 1,50,000
Hufed &9 60,000
WA |94 80,000
10% SHUT9s 1,50,000
fafimt =R FER ' 75,000
I = 20,000
e, wef 1,65,000
fiETeH | S H @ 3,50,000

27. From the following information calculate Cash Flow from operating activities for the 6
year ending 31%* March, 2017.

4

Net Profit as per statement of
Profit and Loss for the year 3,20,000
Depreciation of Fixed Assets for the year 72,000
Increase in Reserve Fund 40,000
Profit on sale of fixed Assets 22,000

Position of Current Assets and Current Liabilities

It As on As on
L g 01.04.2016 | 31.03.2017
4 4

Cash 75,000 90,000
Debtors 2,80,000 2,30,000
Inventories 2,40,000 3,00,000
Accounts Payable 1,60,000 1,30,000
Outstanding Expenses 35,000 45,000
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Frfafea g=1 ¥ 31 1, 2017 1 9ara 99 & foau af=mes sl | e ya= &t 1o
i |
z

T4 % TY-TIf e & SgER I @y 3,20,000

o gl WA ¥ fau smeE 72,000

Hea & | gfg 40,000

g gt & faskg | ey 22,000
we] Tl Ual ] aaarsi st e

, 01.04.2016 | 31.03.2017

e # 5

3 4

T*g 75,000 90,000

eTER 2,80,000 | 2,30,000

@Y 2,40,000 | 3,00,000

R STl 1,60,000 | 1,30,000

31eq Y 35,000 45,000

OPTION - II
faea - 11
(Application of Computers in Financial Accounting)
(wvege & favita oraieT o o)
23. What is the other name of spread sheet in Excel ?
THA | S e H g W R ?

24. State the following features of spread sheet :
(a) Functions (b) Formatting
e i it fr= faftremst =1 3w Fifs

(a) VHHE (b) TEAUW

25. Explain the advantages of Pivot Table report to its users.
faae greft {4 & gae SynTeRdisi i € e el 1 GHERy |

26. Enumerate the advantages of using Graphs and charts. Explain any two of them.

forgtal aen dfesll 1 o F F ol &1 o e | 9 @ R 9 9 gmEmE

27. Name the common functions in Excel. Give the steps of calculating a function.

TFE | W Hed & A S0 e i T0ET % =10 96E

-00o0-
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